
 

fzpjk; gj;jpuk; 11  - juk; - 10  

gFjp - A  

1.  (a)   

 

 

 

 

                 $l;Lj;njhif = &.60000 

               kPjp       = 72000 – 60000 

     = &.12000 

 

   kPjp tUkhdk; =  

    = &.100000 

 nkhj;j tUkhdk; = &.500000 × 3 + 100000 

    = &.1500000 + 100000 

    = &.1600000 

 (b)   

 

  &.80000 

 

fhyk; = 

            = tUlk; 4 

 

2.  

I. 19 -21 

 

II.  

tFg;ghapil eLg;ngWkhdk; kPbwd; (f)     

10 – 12 11 2 22 

13 – 15 14 5 70 

16 – 18 17 6 102 

19 – 21 20 9 180 

22 – 24 23 5 115 

25 – 27 26 2 52 

  28 -30 29 1 29 

  30 570 
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eLg;ngWkhdk;  
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,il = Ʃ(fx)  =  570  = 19 

                  Ʃf          30 



 

 

III. 19 × 25 × 30 = රු.14250 

14250 > 14000  vd;gjhy; cupikahsupd; $w;W rupahdJ  

  

3. (a) 

I.  

  

    

  = 2 × 02 – 4 = 2 × 22 – 4  

  = 2 × 0 – 4     = 2 × 4 – 4 

  = 0 – 4      = 8 – 4 

  = -4      = 4 

 

II.  

 

 

 

 

 

 

 

 

 

 

 

              (b)  

I.  -4 

II. 

III.   

 

 

4. (a)  S = ut +   

 

 

 

 

  

 

-3 -2 -1 0 1 2 3 

y 14 4 -2 .....-4.... -2 ....4..... 14 
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mr;R Fwpj;jy; -  1 

6 Gs;spf;F -  1 

Xg;gkhd tiyap - 1 
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     (b)  

I.  

 

II.   

 

 

 

A + B 

 

 

 

   fkyhtpd; cauk; = 52cm 

   epkypd; cauk; = 96cm 

 

5.  (a)   

 

 

 

 

 

 

(b)        

I.  
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E 

nrq;Fj;J tiujy; 
nrq;Fj;J cauj;ijf; 
fhl;Ljy;  

 

3  
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    / AB = 8cm 

 

6.  

I.  

 

 

 

 

 

 

 

 

 

II. rupahd mstpilg; glj;jpw;F 

 

III. PQ ,d; cauk;  cm ,y; 

  m ,y; 

IV. Vw;wf; Nfhzj;jpw;F  

 

 

gFjp B  

7.  

I. 4, 6, 8 

nghJ tpj;jpahrk; 2 vd;gjhy; $l;ly; tpUj;jpahFk; 

 

II.  

 

 

           = 4 + 7 × 2 

          = 4+ 14 

          = 18 
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III.    

 

 

 

   = 5 ( 8 + 18 ) 

   = 5 × 26 

   = 130 

IV.  130  = igf;fl;Lfspd; vz;zpf;if= 13 

 10 

 

nryT = 13 × 25 

          =  &.325 

 

 

 

 

8.  

 

 

 

 

 

 

 

 

 

 

AB  
    ruptfk; 

60° 
     vjpu; Nfhzr;Nrhb xd;W rkhe;jukhf cs;s ehl;gf;fs;             

BC  

 

D  

 

ABCD ehl;gf;fs; 

  

BC// AD ට  
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9.  

 

 

 

 

 

 

 

 

 

I.   B = 2 × 35° 

         = 70° 

 
tl;l tpy; xd;wpdhy; ikaj;jpy; vjpuikf;Fk; Nfhzk; mjd; vQ;rpa gFjpapy; vjpuikf;Fk; 
Nfhzj;jpd; ,U klq;FfshFk;. 

  

II.    C = 90° Fwpj;jy;  

 

B  C = 90° - 35°               

                      = 55° 

 

III. AO = OB vd;gjhy; 

AOB ,U rkgf;f Kf;NfhzpahFk;. 

 

IV. BC ,izj;jy; 

ACB  
xNu Jz;lf;Nfhzq;fs; rkkhFk;. 

10.  

 

 

 

 

 

 

 

I. rkDk; rkhe;juKk; vdf; Fwpj;jy; 

 

II. ADX  Ak;             

 

            C =  90˚ (juT) 

         Y  = (BC // AD  xd;Wtpl;l Nfhzk; vd;gjhy;) 

MfNt  

    X  = 90˚ -   X 

   Y  =  90˚ -   Y   

MfNt               Y 
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III.            C  (juT) 
 MfNt 

            X  (Neu;Nfhl;bd; kPJ cs;s mLj;Js;s Nfhzq;fs; ) 
Mdhy; mit xd;Wtpl;l Nfhzk; vd;gjhy;  

DX // BY 

 

IV.  

 

 

NkYk;  DX // BY 

 

 ehl;gf;fspd; xU Nrhb xj;j gf;fq;fs; rkDk; rkhe;juKk; Mf cs;sjhy;    

             me;ehl;gf;fs; ,izfukhFk;. 

 

11.  

I.  $k;gpd; fdtsT 
 mupaj;jpd; fdtsT 

 

 

 

22  2 

11 

 

 

II. 15.78 × 3.2 

 

 

1.1981 + 0.5051 

1.7032 

 

  

12.   

I.   

 

 

 

 

 

 

 

II. 20 – 17 = 3 

 

III. epow;Wjy;  

 

 

 

  

ghyu; ghlrhiyapy; 
fy;tp fw;w khztu;fs; 

ngz; 
gps;isfs; 
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FWf;Fntl;L Kfg; gug;gsT X ePsk; 
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IV.  

 

 

 

 

 

 

 

 

 

45 , 20 , 19  Fwpg;gjw;F 

 

 

 

 

 

 

 

 

 

 

  

ghyu; ghlrhiyapy; 
fy;tpfw;w khztu;fs; 
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